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Sec. 12.4: Simplify Rational Expressions

Rational expression: An expression that can be written as a (or division) of two
polynomials, with the requirement that the denominator not be

Undefined rational expression: A rational expression with a denominator of

Excluded value: Any value that causes a rational expression to be

Key to simplifying rational expressions: Look for between the numerator and
denominator, which will allow canceling.
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Algebra 1 Name

Sec. 12.4 Practice Problems

Simplify each expression.
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Simplify each and state the excluded values.
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Answers to Sec. 12.4 Practice Problems
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